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[NSTRUCTIONS TO CANDIDATES:

This paper cOnSists of two sections; A and B. It has six examination items

Section A has tWo compulsory items.

Soction B has two parts; 1 and I1. Answer one item from each part.

Answer four examination items in all.

Any additional item(s) answered will not be scored.

A , s 1
Il answers must be written in the Answer booklet(s)/sheets provided.

5raph Paper is provided.

lilent non- . L : :
on-programmable scientific calculators and mathematical tables with a list

fformulae may be used.
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GECTION A

all items from this section.
» .
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Support matertd

Task:

How much;
a) Gross profits will she earn from her heaps after re-packaging? (08
' scores)

b) Money will she spend in total to buy the tickets she needs?
' (12 scores)

Item 2.
Your Mathematics teacher is planning to transport not more thap 400 students t
stoa

seminar in a neighbouring school located 10 kms awa
: . : y. He howeve
trips each vehicle will make so as to minimize transport expenses s ot o e
After consultations with the mana .
‘ ! ger, Super free express bus com
; _ an
realizes that if all students paid, their total contribution, should not be lesspthazlla stl}llgé?)agg(e)r
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;r':)mk: Help the teacher to find out the number of trips each vehicle should make to achieve

(b l\l\lfsllfto ?sl.me maximum number of students that the teacher can transport? 0 et
SECTION B
This section has two parts; I and I1
Part I
Answer only one question
Item 3.

Your guardian realizes during holidays that he may find it difficult to pay for sp or'ts uniform
that costs Ugx 38,000 at the beginning of term III. He Qemdes to keep you busy during the last
week of your holiday moving around the village buying cabbages at Ugx 800 pEr c'abbage.
You will later group them i1to two groups: Group A shall be' cabt.JageS whose weight is bFIOW
the average weight and Group B will be cabbages whose weight is above the average weight.

Support material

Later, you will sell the cabbages and the profits from the sales will be used to cover the cost
of tie sports uniform. Group A cabbages will be sold at Ugx 1350 each while Group B
cabbages will be sold at Ugx 1650 each.

Before displaying the cabbages for sale, you measure and record their weights in grammes as
follows.

104 | 99| 107 | 96| 101 84| 102 | 78 106"108

63 | 104 86| 111 | 102 | 100 | 95} 100 65\ 112

76| 87| 95| 85| 95| 103 | 6l 105\ 73 99\

83| 102 102 97| 92| 90| 113 107\ 88\ 102\
110 | 91 90 | 109 | 82| 66 92L 91\ 108\ 73\

Task
(a) Using suitable statistical method, find the average weight of the cabbages. (10 scores)

(b) Ifyou sell all the cabbages at the planned selling price; will the guardian be
able to meet his goal? (10 scores)
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(ar away from home tells you to identif
dit and she pays for thesc consumab i
| Ugx 100,000 for the two weeks on «lVL:r' o
consumables from a shop that sells a kg O
nd a kg of posho at Ugx 2400. Y()u‘plnn t? a
| Thursdays. while taking records as follows;

Item 4
Your Aunt who works very
beans. sugar and posho on cre
She also tells you not { .
trading ccmrc'_\'m: decide to _plck
4.000. a ko of sugar at Ugx 5500
consumables on every Mondays anc

Wecek one: .
2 kgs of sugar, 3 kgs of posho and 2 kgs of beans.

Monday:
4 kus of posho and 3 kgs of beans

Thursday:

Weck two;
You had visitors this week and picked more items as follows;

3 kgs of sugar, 4 kgs of posho and 2 kgs of beans

Monday:
Thursday:  One kg of sugar, 2 kgs of beans and 5 kgs of posho.

Support material
TS

s i S e S

y a shop that can give you
les every after two weeks.

age. After touring the
beans at Ugx
lways pick

Your Aunt is now back and asking you how much money you owe the shopkeeper

Task

two weeks?
(b) How much money will you tell your Aunt to pay?

(¢) Did you fit in the planned expenditure budget proposal by your Aunt?

(a) How many kgs of each consumable did you pick from the shop all together for the

(20 scores’
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SECTION B PART II

Attempt one question only

Item 5.
Your uncle has a bathroom with three walls and the floor that he wishes to tile. The person

who wishes to do this work gave him the quotations required to complete this work as

follows;
Each box of tiles can cover a space of 1.5 square metres and costs Ugx 32,000,

- The two opposite walls measure 6 feet by 6 feet each.

- The floor and the other remaining wall measures 5 feet by 6 feet.

- Labour charges is Ugx 9000 per square metre.

Other expenses on consumable materials namely: adhesive, sand, cement, spacers and
grout amount to Ugx 200,000. He has money for all other expenses in hard cash but
must borrow the money for tiles and labour from his siblings at a compound interest rate

of 5%, if he can pay back by the end of 1.5 years.

However, Uncle is finding it hard to determine how much to borrow and how much is
expected to pay back. Note: | feet = 0.305metres.

Support material

d

U

Task:
Help your uncle to find out how much money to borrow and how much to pay back to his
siblings. '

(20 scores)
Item 6

A manager owns a paint company which makes paint of various colours. He receives an order
from his clients to make paint by mixing three colours; White(W), Blue(B) and Red(R) in the
ratios W:B = 3:2 and B:R = 3:2. The customer orders for 380 litres of similar paint. Paint W
costs Ugx 2200 per litre. Paint B costs Ugx 2700 per litre and Paint R costs Ugx 2850 per litre.
The manager packs the similar paint made in buckets in a shape of a frustrum with top diameter
30 cm and bottom diameter 20 cm. The buckets are 48 cm deep as shown.

Turn Over
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48 cm

 20em ¥

If the manager buys a cylindrical tank of diameter 1.8 m height 1.2 m which he wants to fili
with paint so as to cater for any urgent demand that may arise.

Task
(@) (i)  Determine the quantity of each paint in the mixture.

(i) Find the amount of money needed to make 1 litre of the mixture.
(i) ~ Obtain the percentage profit made by selling the mixture at Shs. 3800 per litre.

(b)  Help manager in determining the number of buckets that must be drawn to fill the
tank.

(20 scores)

END
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